H1EMHEHRT Ak

W29 EIZ 1T B EHIEHER T A N OB 10 TH U | RIFEE & T8 &
eote, FERITIE. AR, RS, SRS, BEMREMICET 2L ONE20, 20%T
bol, TOMOMEM, 7V —=27 (RS IZBET 208K, 10% Th o7,

T2, 1000 5 B FRIKGEH O 7= O (S SL AT Bk A S FEAf B A AR AE GBS - N
ITE) dbFEZpr~1fFDT A N Z{KE L 7=,

. % HH ¥ s | 2R (%)
s K (Eé;# & H29 | H28 | H29 | H28 | H29 | H28 | H29 H28

fia Bt fi 2 1 3 2 9 6 20 5.6
* J&= fi 2 11 3 12 2 20 20 61.1
gt B Kk & 0 0 0 0 0 0 0 0.0
% i[5 fil 2 1 2 3 3 9 20 5.6
e & 4 & 0 1 0 1 0 1 0 5.6
HOE BOE W 2 2 2 3 2 3 20 11.1
Hl - kYWY 0 0 0 0 0 0 0 0.0
T - Y - G 0 0 0 0 0 0 0 0.0
Z O flt © P S 1 0 1 0 1 0 10 0.0
7 == 7 (BEIR ) 1 1 1 1 2 4 10 5.6
7Y —=v 7 (Z0fh) 0 1 0 1 0 2 0 5.6
= 7t 10 18 12 23 19 45 100 100.0

MASKEIT. ) EERAFERL XY —0 [TEBAEFER ] 12k
<E7T A HH] >

53 ¥ %7 &M 7 A b i B 7 AR
= Bt Al — KR OS2 L
* & o | ERE AR AR D L BTN E DL
% i} i | HE Y VavZ%y 7 oEE
EOgE N G — USBAEYOMERY
Z O it O PF — oD
7)== 7 (R — A=Y DR E




